Adv, Geomedry 5. Meditns € AH ikuces

G is the centroid of /A ABC, AD = 8, AG = 10, and CD = 18. Find the

sngth of the segment. A AE =i
—— 3 ‘

1. BD =& 2. 4B =&

3. EG=i & 4E =15
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is BD a perpendicular bisector of /\ ABC? Is BD a median? an altitude?
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Gis the centroid of A ABC, AD = 15, CG = 13, and AD | CB.
Fmd the Iength of the segment.
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Copy and compiete the statement for ALMN with medians L0, NP,
‘and MO, and centrmd»ﬁm

6. MR=_2
7. RO= 7
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Complete the sentence with always, sometimes, or never.
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4. Th¢ altitude from the vertex angle of an isosceles triangle is _?__ the median/

the angle bisector.

18. The median to any side of an equilateral triengle is _?
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In Exercises 1-4, point Fis the centreid of A ABC. R S
Use the given information to find the value(s) of x. SR Y
1. BP=x+4 BF=x*—1 : X ﬂ:gsy.m;:_«.@
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2. CP=3x~+5CE=x*+2
3, AP=x2—2 PD=12x -3
4 CP=x*+1 PE=4x~3 o

in Exercises 5-8, use the following information to find the area of the

triangle ‘described.
The formula below can be used to find the area 4 of a triangle using the measures of

the medians m. ;‘

4 1 H
4= é»\/g(s - ml)(,s‘ — mz)(S - m3): where s = E(ml smy T mB)' . *




